0, ab< 02, Va2+ Vb2 \/(-a)2+

® 0 @2  ®a-b @  ®a+b

ab <0 ©|H a%} b o] 57} th=1},
a-b<0°Ha<bholB& a<0, b>0°|th
a<0°B& Va2 =—a,b>0°2& Vb2 =)
a<00°|22 \/(-a)? = Va? = -a
b>00lB2 \/(-b)2= Vb2 =)
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Va2 + V2 - /(=a)? + /(-b)?
=-a+b-(-a)+b

=2b
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OABCD 9] Yo]=16-4x - x1x3=10

1
2
ol VIO o

. OABCD ¢ g ¥l 2
AP=AB=AD=AQ= V10

A Pe2 B V10 THE 2 o] f-35h= Holth. P(2+ V10)
A Q2 Bo} VIO B 22 ol tf g8 Holth.Q(2- Vi)
. PQ=(2+ VI0) - (2- V10) = 210
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2 5 V30 = 5.477 2 o]-goto AlFe] Zh
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D +0.003 = V30 x 0.0001 = 0.01 V30
@+0.03 = V3x0.01 =0.1V3
®+0.3 = V30 x0.01 = 0.1 V30

@ /3000 = V30 x 100 = 10 V30
(/300000 = V30 x 10000 = 100 V30




5.
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PE3-2V2,QE1+2V2, R21+ 2
®PR=(1+V2)-(3-2v2)=-2+3+2
@®PQ=(1+2V2)-(3-2V2) =4v2-2
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@ 3<V3+1 O V3+1<V2+1
© Vis+1<4 ® 4- VT < VIT- T

@ VIl-V7>-7
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@3- (VB+1)=2- V3= vi-¥3>0

L 3>V3+1
© VB+1-(V2+1)=V3-+v2>0
SV3+1> V241
© VI5+1-4=+vV15-3=V15- V9> 0
LoVIE+1>4
@4—w/7—(«/ﬁ—w/7):4—\/ﬁ
=V16- V17<0
A= ANT< 1T- V7
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D a+b=1V2 @ c+d=3V3+5
@)3(a+b)>c+d @ b-a>0
® c-d<0
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VI2+2=5.XxX «d
3V2-4=0.xxx «a
4-2V2=1.xxx b
3+ V3=4 xxxec
®a+b=V2-3a+b)=3V2
c+d=3V3+5
2 3(a+b)-(c+d) =3VZ-(3V3+5)
= VI8- V27-5<0
~3(a+b)<c+d
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5- V10 & A4 REZ o, 25 HES p 2t T o, \/5(1;4_3)
&g ek
© 3V5-5V2 @ 5v5-7v2  @)7v5-5v2
@ 5v5-32 ® 3V5-7+2
—4<-V10<-3, 1<5-+V10<2
a=1, b=4-+10
V5(b+3)  V5(4- V10 +3)
a 1

=7V5-5V2




